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Jéne morning after sunrise, Suresh was standing facing a pole. The
shadow of the pole fell exactly to his right. To which direction was he

facing?

UH Jag FAIGT & 91 JIU TF TFH & A G3T 911 GFH H
mmmaﬁ?ﬁmqﬁlmmﬁmﬁmﬁmm?

O

A) East B) West

) South D) Data is inadequate

E) NONE OF THESE
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Read the following information carefully and answer the questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting around a circular table. Two
of them facing outwards and rest are facing towards the centre but not
necessary in the same order.

O sits third to the left of M. The immediate neighbours L are facing outwards.
K sits second to the right of J and is facing outwards. N sits to the immediate
right of I and sits fourth to the left of J. P, who is an immediate neighbour of J,
sits second to the left of 1. L is an immediate neighbour of J and K. M is an

immediate neighbour of K.

frafaf@a sTeer) Y eaegas 9e 3R A fGw aTe westt & 3av &

s IFTLL ), K, L, M, N, oaﬁwpwmﬁa%aﬁaﬁﬂ%%lmﬁawaﬁmm%
ﬁ?%ﬁﬂﬁﬁmm%aﬁmmwaﬁWaﬂT#al

0, M & T ¥ e TTer W do1 ¥ | rreaw w2l L 1 7@ AT A 3 T K, ) FaA A gwy
Wwﬁa%aﬁtwa‘»‘rmm%l N, | & St e Fa1 31t ) & a9 & e e ) dar ¥
P, S J T fshean eIt &, |$m#{a'¢1=2n?rw§3r%l L, ) 3R K #T frreas w2 81 m
ﬁm%ﬁr%ﬂ;
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Read the following information carefully and answer the
questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting
around a circular table. Two of them facing
outwards and rest are facing towards the
centre but not necessary in the same order.

O sits third to the left of M. The immediate
neighbours L are facing outwards. K sits second
to the right of J and is facing outwards. N sits
to the immediate right of I and sits fourth to
the left of J. P, who is an immediate neighbour
of J, sits second to the left of I. L is an
immediate neighbour of J and K. M is an
immediate neighbour of K.
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Who among the following sits third to the right of N?
fafaf@a # @ Fla N &F g @ Y Toa W dor 872

How many persons are sitting between M and J, when counted in
anticlockwise direction from M?

M & gATad Gam & et . M 3R J & 727 fas safaa 88 87
a) Three

b) Four

c) Five

d) Two

e) One
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Who among the following is an immediate neighbour of both P and I?
famfaf@a & @ Fia P 3k I a1 &1 faswean a3t 72

a)N

b) K

c)L

d) O

e)l

Four of the following five are alike in a certain way and hence form a group. Which one of the
following that does not belong to the group?

frafaf@a o9 & ¥ IR v ARad a@F & @@ § 3K swfav & g s=a B
farafaf@a & @ i w1 aqg & wafta a8t 82

a) PL

b) KN

c) IM

d) JK

e) ON
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Eight persons A to H were born on eight different months of the same year i.e. February,
March, April, May, June, July, November and December. A was born on the month having 30
days but not on November. There is only one person born between A and the one who was
born on June. E was the youngest person. Three persons were born between the one who
was born on March and G. D was born immediately before G. C and F were born on
consecutive months but F is not the elder one. B was not born in May.

TS AFT AW HUS & a¥ & TS FAN-3AT HIAT Al BIadl, AN, e, A,
ST, STelTs, JqeY 3T aeT & U1 gu &4 AT SA 30 T arer Al F 37 o7
?ﬁ%ﬁrwﬁaﬁlAﬁTaﬁaﬁﬂaﬁm%aﬁamwwﬁﬂﬁ e
Em%lEmmelmﬁﬁﬂﬁﬁmﬁTGﬂ?mFﬁﬂ—qﬁ%rﬁa
Wﬁlosﬂ:bﬁmqﬁﬁagmmlcaﬁ?Fmﬂﬁ?ﬁ#ﬁa & AfFeT FaaT

oTal 1 Bmﬂﬂé#aﬁgmml

(¢

“
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Eight persons A to H were born on eight
different months of the same year i.e.
February, March, April, May, June, July,
November and December. A was born on
the month having 30 days but not on
November. There is only one person born
between A and the one who was born on
June. E was the youngest person. Three
persons were born between the one who
was born on March and G. D was born
immediately before G. C and F were born
on consecutive months but F is not the
elder one. B was not born in May.
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ﬁmﬁ‘i@r—rﬁ#m—qﬁ?aﬂﬂaﬁﬂﬁgmmﬂ'

Who among the following person was born on April?

a)G b)D c¢)H d)C ¢e)A

.How many persons were born between H and C?

H3R c& & fhad saiFa d9e1 gu 47

a)l b)2 <¢)3 d)4 e)Noneof these

.Who among the following was born on July?

ﬁmﬁﬁaﬁ#%mwﬁaﬁgmm?

a)E b)D <¢)C d)G e)Noneof these
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.Four of the following five are alike in a certain way and hence they form a
group. Which one of the following does not belong to that group? G IGIECG]
9 A ¥ IR UF AREad dlF @ A ¢ 3R suiAv 9 v g
g §1 Pfaf@a & § i 91 39 g § gafta a8 §7
a) The one who was born on March

b) The one who was born on May
c) The one who was born on February
d) The one who was born on July
e) The one who was born on December

Which of the following statements is true about E? G IGIECG
H G PTG Y9 EdH IR H T 87

a) E was born on December

b) E was born immediately after B

c) Only one person was born between E and G

d) None is true

e) All are true
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Evelyn starts walking from point Z towards the north. After walking 4 metres, she
reaches point A. From point A, she starts moving towards the east and covers 6 meters
to reach point B. From point B, she moves towards the north and covered 4 metres to
finally reach point D. Point C is midway between A and B.

ua‘i%ﬁr z#maﬁaﬁvmwwﬁ%m:ﬂuwﬁ%m,azg;A
agereh ﬁ%A@' € Q@ A AR aa E w3 g 8

%ﬁvs:ﬁa {&aﬂaﬂ?ﬁ%lﬁgsﬁ,a@maﬁmm%m

:ﬁrﬁganﬁﬁ foT 4 Mlex A gl a7 FIA 81 g cAR BF T &
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What is the distance between the initial and final
point?

yRiw 3T ifasr g & e fr gt = 872
A. 30m

B.40 m

C.10m

D. 60m

E. None of these

What is the distance between point C and
point D?

g c3k g p&F o i gft &= 82
A. 8m

B.3m

C.4m

D.5m

E. None of these

. Point C is in which direction with respect to
point A?

fag A% geast & fag c v fem o 87
A. North - West

B. East

C. West

D. South

E. North
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. How many meaningful words can be formed using the 1st, 3rd, 5th and 11th
letters of the word INHERITANCE using each letter only one in the word?

eTec INHERITANCE & Ugdl, dlEX, 59 31X 119 31&RY T YA9T & fhaa
YT eeg FATT ST HFHd o7

A.1

B.2

C.3

D. 4

I\ [e]p [
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Study the following information and answer the questions that follow.

In a family, P is married to Q. R is the only sibling of Q. S is the only nephew of R. R
is unmarried. T is the grandfather of S. U is the only son of T. T is married to V.

td IRGR &, P, Q¥ fRafed g1 R, QFT sHdlar @gleX g1 S, RFT Shdldr
g?hsngl R HfAa1fgar 81 T, SFT am&T 81 U, THT SFhallar 7 81 TH Q& v
g3 &
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. If U is married to X, then what is the relationship of X with respect to V?
I U, X RafRa 8, @ vF o & X HT Fa1 T 87

A. Son B. Son-in-law C. Daughter-in-law D. Daughter E. None of these

. How is P related to‘S’?
P,s¥ P YR wafda 87

A. Mother B. Father C. Uncle D. Brother E. Sister

. How is Q related to P

Q,P.¥ fF¥ YR ddfa &2

A. Sister B. Father C. Wife
D. Husband E. None of the above
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Give Answer Statement: K=2M>T>S; G>M>R>Q; RV
(a) If only I conclusion follows Conclusion:

(b) If only II conclusion follows V>S

(c) If either I or 11 follows K>Q

(d) If neither I nor 1I follows and

(e) If both I and II follow.
Statement: H=M<W-=L; K<M; P=B=H

Conclusion:
L>K
M<P

Statement: V=2D=2K; D=Z<P; Z<R>Q
Conclusion:

V>P

D<Q
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Eight persons M, N, O, P, Q, R, S and T are sitting in a straight line and facing north.
Their ages are differenti.e. 18, 21, 27, 33, 36, 42, 55 and 60, not necessarily in the
same order. N is 27 years old. Two persons are sitting between N and O. Only two
persons are sitting to the right of O. Two persons are sitting between M and the one
who is 18 years old. M is not neighbor of N. M is not sitting at any end. P is 2" to the
right of the one who is 18 years old. O’s age is twice of the S’s age. M is 21 years old. Q
is neighbor of S. One person is sitting between T and the one who is 36 years old. R is
younger to O. P is elder to Q but younger to T.

S ATFA M, N, 0, P, Q, R, S 30T T Tar Hieft 3T 3 3T A 30T 377 @ Q1T dS B
mmfﬂr—er%aaﬁam 21, 27, 33, 36, 42, 55 31X 60, ATTITH AL W FH A &N
U 27 AT FT R Naﬁtoﬂ;aﬁira?—aﬁ?ré's%lma—qﬁ—doamém%%l M
IN1sa¥FaFaF o =aFadds I m NFTERNAE I M FH s w
el 4oT ¢ 1 P, 18 aY & ST & G W WY TATA W g1 0 1 31, S Y 3y 1 Al
£ w7 21 WA FTR Q, S FTISNE &1 T 3 36 a6 & afFa & 44T v caied doT 2]
R,O A BTl P, QA T3Tg oifthed T A BIET B
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Eight persons M, N, O, P, Q, R, Sand T are
sitting in a straight line and facing north.
Their ages are differenti.e. 18, 21, 27, 33,
36, 42, 55 and 60, not necessarily in the
same order. N is 27 years old. Two persons
are sitting between N and O. Only two
persons are sitting to the right of O. Two
persons are sitting between M and the one
who is 18 years old. M is not neighbor of N.
M is not sitting at any end. P is 2" to the
right of the one who is 18 years old. O’s age
is twice of the S’s age. M is 21 years old. Q
is neighbor of S. One person is sitting
between T and the one who is 36 years old.
R is younger to O. P is elder to Q but
younger to T.
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Who among the following is 3 to the left of M?
frfeaf@aT 7 & 9 M & I8 § day T

g?

PWNE
vZzho

5.

Which of the following is TRUE?

frfaf@a & @ sl ar ad 87

1.Q is younger to O

2.P is 60 years old

3.M is neighbor of S

4.R is 33 years old

5.Three persons are sitting between Q and P
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Who among the following is the eldest in the group?

farafaf@a 7 & =l aqg 7 a=@ 7371 37

1.
2
3
4
5
H
P
1
2
3
4
5

Onox -

(0

2

many persons are between P and R?

R & Ay fhaa <afdd 2

hhhhb%
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Less than 10 people are sitting around a circular table and facing the

centre. They like different colors. Two persons are sitting between E and O.

F likes Silver and sits immediate left of E. One person sits between F and Q.

Q is not neighbor of O. B likes Red and sits 2"d to the left of F. The one who

likes Pink is 2Md to the right of the one who likes White. The one who likes

White is neighbor of M. K likes Green and is neighbor of B. D is 3" to the

left of K. The one who likes Black is 2"d to the left of M. O doesn’t like

Black. A is neighbor of the one who likes Blue. The one who likes Brown is _
immediate left of the one who likes Yellow. Eé'":‘tg" =
10 § HH 19T T JATHR AT F ARI AR g Y AN 377 1T 38 81 358 IHeT9T-37el97 T

awig §1 £ 3R 0 & dra &Y safFa 45 &1 F Y 7idt wwie & A a5 £ F S v dor ¥ v cafEa
F3it QF frad 3171 Q, 0 FT IS AFT § 1 B 1 AT To1 THg § 3 T8 F & 910 & gA ¥
9T 43T &1 TE ST 9HE HICAT & e, The T THE Ha Tl 3fFd & g F g8 T W
he 9T THE el araT ATaFd M FTISIRAT &1 K R g T qoG ¢ R agB FT IS &1 D, K&
a3 / AR TUTT 9T § | FHTT T GHE FIA 1T ST M & 9TC | gAY FUTT 9T g1 O FY el
T THE Bl o1 A, FTelT T THG FA aTel T TSHAT o | I§ ST To14 370 T TG &, el T
qHE el AT & S 910 ST 2|
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Less than 10 people are sitting around a
circular table and facing the centre. They
like different colors. Two persons are
sitting between E and O. F likes Silver and
sits immediate left of E. One person sits
between F and Q. Q is not neighbor of O. B
likes Red and sits 2"d to the left of F. The
one who likes Pink is 2Md to the right of
the one who likes White. The one who
likes White is neighbor of M. K likes Green
and is neighbor of B. D is 3" to the left of
K. The one who likes Black is 2" to the
left of M. O doesn’t like Black. A is
neighbor of the one who likes Blue. The
one who likes Brown is immediate left of
the one who likes Yellow.
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How many people are sitting around the circle?

qq & 9RI 3 frasr afFa 45 87

K(Green) B(red)

(Black) E

1.8
2.7
(Brown) Q ue 39
4.6
5.5

(Yellow]M 0
(White)

Who among the following likes White color?

ﬁmﬁﬁa##mmmm%’?
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Which of the following combination is correct?

famfaf@a & ¥ Sl a1 g |dr 82

K(Green) B(red)

F(silve

1.E-Black
i 2.A-White
(Brown) Q 3.D-Yellow
(Yellow)"! B 4 .M-Blue
5.0-Brown

Who among the following is 3" to the right of the one who likes
Silver?

frfaf@a & ¥ sl 9 gag A g FfFad F qF @
dEY T 9w g7

1.Q

0 S W N
OZIO>»
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How many letters are there in between the letters of the word “SKYBAGS” as
many as are there in alphabetical series (both backward and forward)?

Uqeg “SKYBAGS” & eI & ol 3« & R § foasr & aotaAtem s@en
(o3 3k 3mar =) & 82

a) none

b) one

c) three

d) two

e) None of these



http://www.mahendras.org/



http://www.mahendras.org/

